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= = 5 AN 7 = AN | = = = A = T AN = | =
7 100kN/mM%#BZ 5| 1.00 | 0.00 ~ 183 12815 |3m&EEzB — ~ — — — [100kN/M%E#BZ 5| 1.00 | 1060 ~ 1761 12815 |3mEEZB| — ~ — — —
Fh s 1.00] 183 ~ 962 100.00| Fhils | ooo ~ 962|231 11.70 Zhn s 1.00| 6.00 ~ 1060| 100.00| TS| 6500 ~ 1761|231 11.70
2 100kN/mM#%#BZ 5| 1.00 | 0.00 ~ 097 114.60 |3mE{EzB — ~ — — — [100kN/M%E#BZ 5| 1.00 | 1053 ~ 1345| 114.60 |3mEEZB| — ~ — — —
Fh s 1.00) 097 ~ 876 100.00 | ThLs | ooo ~ 876|220 11.10 zhn s 1.00| 6.00 ~ 1053 100.00 | ThUSN | 500 ~ 1345|220 11.10
3 100kN/mM%#BZ 5| 1.00 | 0.00 ~ 226 135.11 |3mEEzB — ~ — — — [100kN/M%E#BZ 5| 1.00 | 1056 ~ 20.05| 135.11 |3mZEHEZB| — ~ — — —
s 1.00 | 226 ~ 1004 100.00| THLS | 000 ~ 1004| 2.66 1347 ZznLst 1.00 | 6.00 ~ 1056 100.00 | TN | 500 ~ 2005 2.66 13.47
4 100kN/mM#%#BZ 5| 1.00 | 0.00 ~ 241 | 13772 |3mZEEzB — ~ — — — [100kN/M%E#BZ 5| 1.00 | 1085 ~ 2389\ 137.72 |3mE#ZB| — ~ — — —
Fh s 1.00 | 241 ~ 1020 100.00| THLS | 000 ~ 1020| 257 12.97 Zhn s 1.00| 6.00 ~ 1085\ 100.00| TSN | 500 ~ 2389|257 12.97
5 100kN/mM%#BZ 5| 1.00 | 0.00 ~ 225 135.05 |3mEEZB — ~ — — — [100kN/M%E#BZ 5| 1.00 | 11.21 ~ 2497| 135.05 |3mEEZB| — ~ — — —
Fh s 1.00 | 225 ~ 1004 100.00 | TS | 000 ~ 1004] 251 12.67 Zhn s 1.00| 600 ~ 1121 100.00| ThLS | 500 ~ 2497| 2.51 12.67
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/mM%#BZ 5 ~ ImEEZD ~
Fh s ~ Zh LS ~ Zh LS ~ Zh LS ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/mM%#BZ 5 ~ ImEEZD ~
Fh s ~ Zh LS ~ Zh LS ~ Zh LS ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/mM%#B x5 ~ ImEEZD ~
Fh s ~ Zh LS ~ Zh LS ~ Zh LS ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/mM%#BZ 5 ~ ImEEZD ~
Fh s ~ Zh LS ~ Zh LS ~ Zh LS ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/mM%#BZ 5 ~ ImEEZD ~
Fh s ~ Zh LS ~ Zh LS ~ Zh LS ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/mM%#B x5 ~ ImEEZD ~
Fh s ~ Zh LS ~ Zh LS ~ Zh LS ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/mM%#BZ 5 ~ ImEEZD ~
Fh s ~ Zh LS ~ Zh LS ~ Zh LS ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/mM%#BZ 5 ~ ImEEZD ~
Fh s ~ Zh LS ~ Zh LS ~ Zh LS ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m%#B x5 ~ ImEEZD ~
Fh s ~ Zh LS ~ Zh LS ~ Zh LS ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/mM%#B x5 ~ ImEEZD ~
ZHN LS ~ TS ~ TS ~ Zh st ~
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